Tuesday 12th May 2020
Lesson 2 EXTENSION: reasoning & problem solving

1. [image: ]Paula is buying art supplies for her class. 





Is she correct? Explain how you know. 

2. Annie is counting her money.
[image: ]




She picks 3 of the amounts shown above. 
What is the greatest total she could have? 
What is the smallest total she could have? 

3. [image: ]Sung-Hee has these coins and notes.
[image: ]


Does she have enough money to buy the mask and snorkel?
Explain your answer. 

4. [image: ]Vera and Ezra have both been given their pocket money.
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True or false? He spent £1 and 35 pence in total.

3. Vera and Ezra have both been given their pocket money.

| think | have the most pocket money
because | have a 50 pence coin and a 20
pence coin.

| think | have the most pocket money
because | have a 1 pound coin, a 50 pence
coin and a 20 pence coin.

Who do you agree with? Explain why.
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7a. Gabby is buying a new ouffit.

7b. Pavula is art supplies for her class.

trousers socks jumper | trainers paint pastels clay pencils
4two- &6 s | @@ | 2nve
pound 65p £6 ounds pound 87p
coins @@ P @ notes
She says, She says,
If | buy trousers, socks, a If | buy paint, paintbrushes,
jumper and trainers, | will clay and pencils, | will spend

spend £14 and é5p in total.

Is she correct? Explain how you know.

)

£19 and 87p in total.

Is she correct? Explain how you know.
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8a. Kelvin is counting his money.

8b. Victor is counting his money.
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Is she correct? Explain how you know.

Is he correct? Explain how you know.

5a. Annie is counting her money.

1 twenty-
pound 20p
note

She picks 3 of the amounts shown above.
What is the greatest total she could have?
What is the smallest total she could have?
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5b. Pabin is counting his money.

1 five-
pound
note

2p

He picks 3 of the amounts shown above.
What is the greatest total he could have?
What is the smallest total he could have?

11:25 E
04/05/2020 2




image3.png
- @ Year-2-Autumn-Block-3 X

< - O @ ® | file:///C:/Users/Teacher/AppData/Local/Temp/Temp1_Year-2-Autumn-Block-3-Step-7-Find-the-Total%20(1).zip/Year-2-Autumn-Block-3-Step-7-RPS- Y ¥= Z\, g

o5 | @ - Fittopage (M) Pageview | A) Readaloud /. Addnotes @ E & |

1
6a. Tim has these coins and notes.
five

pound
note

Does he have enough money to buy the
bucket and spade?

Explain your answer. B N

W
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6b. Sung-Hee has these coins and notes.

ten
20p pound
note

Does she have enough money to buy the
mask and snorkel?

Explain your answer.
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